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Be CS9933N
MR AC/DC/IR/GR
SEE 0.050kV ~ 5.000kV
el .
fE BE + (2%I1EE+5V)
DR 1v
AR 100VA ( 5.000kV/20mA )
RAEERIR 20mA
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AR B3R
AR REE <2% ( TEERAREMTREL )
TRIEEE 1.3~15
mHESKE DDS+IHX
EAJE_EFHATE 0,0.35~999.9s O=E3[E FFHAFEIX
At E) 0, 0.35~999.9s O=jiELEM
|EIREATE] 0.0s ~999.9s O=|aJfRRt AR
BT 0~9, 0 /9%
B 0.050kV ~ 6.000kV
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U 5 + (2%IEE+5V)
DR 1v
BABMHINR 60W ( 6.000kV/10mA )
BAEERR 10mA
=2y =i 2mA. 10mA
BUREREL <5%
HREERTIE] <200ms
RAFEER 10mA
B _EFHATIE] 0,0.3~999.9s O=EELFHAGE%
At ) 0,0.3~999.9s O=iEEEMS
[EIFRATIE) 0.0~999.9s O0=[alfEATEI
BT 0~9, 0 /9%
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